e Replaces Toro Groundsmaster 7200 E‘ fil
Elﬁ

ﬁn Parts
Zero-Turn Mower Traction Unit - Model 30473
" Traction Control

39

86
&7
88

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=
=

=4 Replaces Toro Groundsmaster 7200

Hﬁn Parts
Zero-Turn Mower Traction Unit - Model 30473
" Traction Control

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

Other Parts Available

21-7710,
70 R32121-15 32-8880, Pin-Roll 1/4 x 1-1/2 2
32121-15

71 R105-3455 105-3455 Bushing 4

01-166-0400,
24-10-BD,
24-9-AD,
32-9650,
3256-2,
3256-23,
3256-3,
3256-67,
3290-217,
3556-3,
4-2390,
7-0152

72 R453009 Washer - Flat 5/16 SAE 2

3296-4,
73 R3296-4 3296-43, Locknut - ESNA 5/16-24 2
65-9360

01-188-0524,
22-12-BJKD,
3219-2,
915720

74 R3219-2 Nut - 5/16-24 Zinc 2

1-303105,

75 R282-2 2822

Yoke 2

283-1,

76 R283-1 283-13

Pin - Clevis 2

77 R3290-307 3290-307 Pin-Hair 2

322-9,

78 R19H3130 257

Bolt - Hex HD 5/16-18 x 1-3/4 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Groundsmaster 7200

ﬂﬁn Parts
Zero-Turn Mower Traction Unit - Model 30473

=
=

" Traction Control

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

79

01-166-0100,
01-166-0120,
01-166-0270,
01-166-0500,
01-166-0600,
01-166-0620,
132-4593,
2356-3,
237-12,
24-10-AD,
24-11-AD,
24-11-BD,
R453011 24-12-AD, Washer - Flat 3/8 SAE Y/Zinc 2
24-12-BD,
30-9310,
32-8190,
3256-24,
3256-3,
3256-36,
3256-4,
453011,
47-9950,
48-9220,
513458,
7-0052

80

01-166-0110,
01-166-0510,
23-10-GD,
24-7170,
30-8520,
R3253-4 3253-4, Washer - Lock 5/16 Zinc 4

48-9350,
48-9360,
48-9570,
68-9420,
99-7577

81

105-7280,

R76-8870 76-8870

Lever Damper Assy 2

82

R108-9829-03 108-9829-03 Lever - Damper 2

83

1-804256,
3290-357,
3296-29,
915662P

R3296-29 Locknut - 5/16-18 ESNA 6

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




Item R&R
No Part No.

Replaces Toro Groundsmaster 7200

Parts

Zero-Turn Mower Traction Unit - Model 30473
Traction Control

OEM
Part No.

Description

=
=

Qty Order
Req Quantity

84

R32151-72

32151-72

Ring-Retaining

2

85

R400190

01-150-0720,
01-178-0510,
30-8680,
322-6,
513343

Bolt - Hex HD 5/16-18 x 1-1/4 GR5

86

R108-9830

108-9830

Pivot Shaft

87

R3296-39

32127-25,
32128-36,
3290-357,
3296-17,
3296-22,
3296-39,
915663P,
99-7443

Locknut - 3/8-16 Nylon

88

R323-6

01-150-0010,
01-178-0608,
20-47-AD,
20-47-AGD,
3224-2,
323-6,
49-3510,
908034P,
908332

Bolt - Hex HD 3/8-16 x 1 GR5 YZ

12

89

R125-2704

125-2704

Grip - Foam

90

R400264

01-150-0180,
01-178-0610,
20-48-AD,
20-48-AGD,
32-9160,
3224-3,
323-29,
323-7,
400264,
908035P

Bolt - Hex HD 3/8-16 x 1-1/4

91

R3296-44

3296-44

Nut - 3/8-16 Heavy Jam ESNA Lock

92

R3219-20

3219-20

Nut - Hex 3/8-24 LH GR8

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Groundsmaster 7200

ﬂﬁn Parts
Zero-Turn Mower Traction Unit - Model 30473
" Traction Control

I[tem R&R OEM
No Part No. Part No. Description

=
=

Qty Order
Req Quantity

93 R105-7239 105-7239 Rod -Threaded

2

01-188-0624,
215-50,
94 R3219-3 22-13-BJD,  Nut- 3/8-24
22-13-BJKD,
3219-3

32151-17,

95 R32151-47 32151-47

Ring-Retaining

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




